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F(x,y) W& CM SRBESE 5, a,b h k &EHE LT
F(t) = f(a+ ht,b+ kt) £B <L & F(t) I& C" KT
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f(x,y) & D E C" #&EE%T. DIND 251 (a,b),(a+ h,b+ k) %
FEIRRD D IZEEhh
f(a+ h, b+ k)
0

— i i(hﬁ + k—)mf(a b)
N = m Ox dy ’

1,0 9y
+m(ha+k@) F(a+0h, b+ 0K)
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f(a+ h, b+ k)
= f(a, b) + hf.(a, b) + kf,(a, b)

1 1
—|—§h2fxx(a, b) + hkfyy(a, b) + §k2fyy(a, b)

1 1 1
+6h3fm(a, b) + 5h2/<fxxy(a, b) + E/~,/<2fxyy(a, b) +

1
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f(x,y) =€ cosy % (0,0) T3REXTT—7—EHLTAS,
f =e cosy, f,=—€"siny

fox = €“cosy, fo, =—e"siny, f, =—e"cosy

fox = e cosy, fo, =—€"siny, f, =—e cosy,

fx(0,0) =1,£,(0,0) =0, £,(0,0) = —1,
f;(XX(Ovo) = 17 fxxy( ,0) = Oa nyy(OaO - _17 fyyy(070) = 0
- T
f(x,y) =1+ =x>— 1y2 + 1x?’ 1xy2 +
’ 2 2 6 2

KIEELE EMHEE Al 55 5 @8



T4 7 —DEH

Bl

f(x,y) =€ cos(x —y) % (0,0) TIWETT—7—EHILT
BB,

f, = e cos(x — y) — e sin(x — y)

f, = &1 cos(x — y) + & sin(x — y)

fix = —2&* Y sin(x — y)

foy = 26T cos(x — y)

fy = 2e" Y sin(x — y)

fox = —2€*1Y cos(x — y) — 2e* sin(x — y)
foy = 26" cos(x — y) — 2" sin(x — y)
fy = 26T cos(x — y) + 2 sin(x — y)
fry = —2&*T cos(x —y) + 2" sin(x — y)

Zn& v £(0,0) =1,£(0,0) =1,£,(0,0) =1,
£(0,0) = 0, £, (0,0) = 2, £, (0,0) = 0,
Fioc(0,0) = —2, fis (0,0) = 2, £,,,(0,0) = 2, £,,,,(0,0) = —
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f(x,y):1+x—|—y+2xy—§x3+x2y+xy2—§y3—i—---
CERTE 5,

i
OB Z (0,0) T2REFTT— 7 —EHAE X,
f(x,y) = sin(x —y), g(x,y) = e Vlog\/1+x%+y?
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BI%K f(x,y) D' D E CL#LTHS (a,b),(a+ h, b+ k) D' D 124
Fhiug, , ;

f(a+ h b+ k) — f(a,b) = (ha + k8_y>f(a+0h,b+9k)

= hf,(a+ 0h, b+ 0k) + kf.(a+ 0h, b+ 0k)
LB 0<0 <1 PEET S,
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